Wk 4
7/23/23

Sermon Title God’s Wrath on Display
Scripture: Revelation 9-12

. THE RAPTURE AND SECOND COMING

Rapture Second Coming of Christ
Christ returns for His church Christ returns with His church

l !

| 3% YEARS | 3% YEARS |

\‘f\?{g —— The Great Tribulation —

HERE —— 7 YEARS The Tribulation ——————————

Slrning Point 2027

Seals Continued:

5. Fivga Seal- The Demonic Released- Revelation 9:1-11
tar

Bottomless Pit
Locust
Abaddon/Apollyon

6. Six Seal- Evil from Babylon Revelation 9:13-21
4  Angels were “bound” demons vs 14-15

5 200 million army

Interlude from Judgement Revelation 10-11
*A few reasons why:
*Then | saw another mighty angel coming down...
*This Greek word means of another of the same kind

*Jesus has not appeared as the angel of the Lord since the OT before He took on
flesh

*Christophany
*This angel is shown his feet were here on the land and the sea- vs 2
*Jesus will return the same way He ascended- Acts 1:11
*The next time He lands on earth is.... Revelation 19- His Second Coming 13
*Many believe that this is Michael the Arch Angel because he is given power over the earth



What is the comparison between sweet and bitter?

Sweet (big Scroll)
Bitter (little Scroll)

Let us do some math

*42 months (about 3 and a half years)- 2~ 3.5 years
of the Tribulation period- The anti-Christ will
desecrate the temple and the gentiles will trample
it.

42 MONTHS - 2ND HALF

1260 DAYS - FIRST HALF
*1260 days- the 2 witnesses will be proclaiming the

REVELTiON gospel in the first part of the Tribulation Period.

360 X /=2,555

2,555/2=1211.9

REVELATION

365 x 7= 2,555 divided by 2 = 1277.5- Why does not this add up

*Well, it contradicts the Bible, so it is allegorical and figurative and is not literal.

*So, that is why it is important practice biblical interpretation.

*What are the first pillars when interpreting?

*Look at the Historical and Cultural issues of the text

*So, we must look at that number 1260 in a Jewish culture.

*We operate in a Solar Calendar- 365 days a year

*The Jewish calendar operates in a Lunar calendar which during this time was 360 days
*So, lets perform that same problem using 360
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*So, lets perform that same problem using 360

360X/ = 2,520 360 x7 = 2520 divided by 2= 1260-

AN
e ‘s

Wow...Look how that works &

2,520/2 =1260

REVELATION

The 2 Witnesses- Revelation 11: 4-14

What will these witnesses be able to do while they are on earth?

*Fire will come from their mouth- (if harmed)- vs 5

*Shut the sky- no rain- vs 6

*Turn water into blood- vs 6

*Strike plague to the earth-vs 6

*The beast will kill after their 3.5-year ministry's vs 7

*They will lay in the streets- vs 8
*The world will see (in today's world this can happen, right?)-Technology
*The world will celebrate vs 10

Who were these withesses?

*Joshua and Zerubbabel- 2 olive trees

*Elijah and Enoch-taken up

*Moses and Elijah- Malachi 4-

*Mentioned in Matthew 17- Mt Transfiguration
*The miracles they will perform during this time match what they did as prophets in
the OT.

Take away from Revelation 10-11

* Focus on what is in the Word
Redirect the energy and time you spend
speculating/researching on unanswerable questions to
learning and applying the clearly taught truths in
Scripture.

Keep praying for the Lost in our lives
God is patient not wanting any to perish
Pray and Pray
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Resource for this week: The Revelation
of Jesus Christ- John Walvard

T H E

REVELATION

=F 3

JESUS CHRIST

‘o

A COMMENTARY BY

JOHN F. WALVOORD
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Session 2: Preliminary Considerations - Part 2 - Interpretive Guidelines
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Considerations - Part 2 - There is Great Interpretative Difficulty

Preliminary

Session 2.




